 Allquestionsare compulsory.
Use OanH-programm'a-b]e & :
Qﬂ)“i‘ﬁ%ﬁﬁ”{b‘?“‘fﬁh‘;ﬂnﬂé

A) What do you mean by Hooks law. Elastic limit and Yield poir
showing Relationship between stress and strain, extension ant
points. N s

"o ke

OR it s i ag
A) Derive Poisseulle’s law for a liquid flowing in a narrow tube.'Stzitclﬂie-aégumpﬁtjﬁ m"é[gr,a,__,,___,,.__:
s _ : . i b S (SO S
B) Prove that in Fhe nipe of varving area of cross-section the liquid will flow slowly where .~ P
the c_ross-secnm-la] area and move faster where the cross-section area is small. Derive the
relation connecting the two quantities. '(715@ £

’ OR "IN AR AT !
B) Show that for homogenous isotropic material Y=21 (1+0). T (M

C) A cricket ball of mass 375g is moving with a velocity of 17 m/s andis hitbyabatsothat

i
v

B

the ball is turned back with a velocity of 29 m/s. the force of the blow of blow acts for

0.055 s. Find the average force exerted on the ball by the bat. v (5M)
OR
C) Describe Newton’s second law of motion with suitable example. (5M)
(20 marks)

(.2) Answer the foiiowing:

A) Obtain the relation between P,V and T in an adiabatic interaction for a perfect gas.(8M)
OR

a 3 _
A) Prove that for real gas Cp-Cv =[{ 5;—, JutP] (5-;— ) -Show that it reduces to
U . _CP=CV
Cp-Cy=R for perfect gas, Hence prove that (5 iy (8M)

1 zeroth/law of thermodypamics with certain quantity of perfect gas at

B) State and explais ! i
' NTP in compressed adiabatically to one fourth of its original volume, calculate the
(TM)

resulting pressure and temperature(V = I.é}i{)
O

B) Define enthalpy and hence shows that first [aw of thermodynamic can be written as
(TM)

dQ = C,dT +[ (52 )r-V] dp. | |
C) Calculate the temperature drop over 1km of the atmosphere if o 1~]4 for air and theZ:
averace molecular weight of the air is 0.029 ke/mol R=8.4 Jmol K and g=9.8 m/s(SM)
(=

OR :
done in thermodynamic one mole of perfect gas occupying 6 litres at

batically compressed to 2 litre Cv=§R Calculate the work done on
(5M)

C) State the term work
1 atm pressure is adia

2

the gas 1 atm=10" N/m".




Q.3) Answer the folil-qh@?i{?ig;r i

A) Derive an exbressibn fol‘thﬂ

Byl ¢: Lé

. %
B) State the ﬁ/ﬁé’\"‘tmai%gb

C) Explain X-cut and Y-cut crysﬁl

R M.} 473 e
C) For a metallic rod of densﬂ;:
fundamenta! produced h

B) Discuss path dependﬁic :
&) During blood transfusion, he bottle
above the needle, which has intern
minute 408cc of blood passes
density is 1020 kg/m®"
D) Two unequal masses m
negligible mass are
(Atwood Machine), If

string,

of alloys. UL £ R ST e
F) Describe briefly sonar ang depth Sotinding iy A EEREUH



